
https://www.passapply.com/300-615.html
2024 Latest passapply 300-615 PDF and VCE dumps Download

 

 

 

300-615Q&As

Troubleshooting Cisco Data Center Infrastructure (DCIT)

Pass Cisco 300-615 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/300-615.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

300-615 VCE Dumps | 300-615 Study Guide | 300-615 Braindumps                                1 / 6

https://www.passapply.com/300-615.html
https://www.passapply.com/300-615.html
https://www.passapply.com/300-615.html


https://www.passapply.com/300-615.html
2024 Latest passapply 300-615 PDF and VCE dumps Download

QUESTION 1

Refer to the exhibit. 

customer reports that all Intra-EPG isolation stopped working within a bare-metal tenant. Postman is running on a
machine to get information from the APIC in case of orchestration failure. Which action resolves the issue?. 

A. Match encap="vlan-10" and primaryEncap="vlan-110" 

B. Change pcEnfPref="unenforced" to pcEnfPref="enforced" 

C. Remove primaryEncap="vlan-110" from the specific port path 

D. Modify the GET command to reference the valid path for the managed object 

Correct Answer: C 

 

 

QUESTION 2

Refer to the exhibit. 

300-615 VCE Dumps | 300-615 Study Guide | 300-615 Braindumps                                2 / 6

https://www.passapply.com/300-615.html
https://www.passapply.com/300-615.html
https://www.passapply.com/300-615.html


https://www.passapply.com/300-615.html
2024 Latest passapply 300-615 PDF and VCE dumps Download

An engineer configures EVPN on Switch-1. but the neighbors fail to exchange EVPN routes. Which action resolves the
issue? 

A. Configure neighbor 192.168.0.7 as an L2VPN EVPN route-reflector client. 

B. Activate the IPv4 unicast address family for neighbor 192.168.0.7. 

C. Enable the send extended community option for the L2VPN EVPN address family. 

D. Advertise L2VPN EVPN under the IPv4 unicast address family. 

Correct Answer: C 
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QUESTION 3

Refer to the exhibit. 

The administrator set up two pairs of Cisco Nexus switches. The administrator set dfferent vPC priorities on all four
Nexus switches. As soon as the administrator activates the vPC between the two pairs the network faces different
issues. The problems range from both Nexus pairs declare themselves as root bridge, as well as spanning-tree
inconsistencies and traffic forwarding issues. Which action resolves these issues? 

A. Change the role priority on one pair. 

B. Configure peer-config-check-bypass on both pairs. 

C. Configure a vPC peer link between both peers. 

D. Change domain ID on one pair to a diferent ID. 

Correct Answer: D 

 

 

QUESTION 4

Refer to the exhibit. 
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After a failover occurs, which two actions must be performed on Switch-B to manually preempt the operational primary
role back to Switch-A? (Choose two.) 

A. Configure the local vPC role priority to have a lower value than Switch-A. 

B. Configure the local vPC role priority to have a higher value than Switch-A. 

C. Disable and then re-enable the vPC peer-keepalive link. 

D. Configure the local vPC role priority to have the same value as Switch-A. 

E. Disable and then re-enable the vPC peer link. 

Correct Answer: BE 

 

 

QUESTION 5

Refer to the exhibit. 
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The FCoE traffic fails to traverse the vfc2 interface. The VSAN 102 is configured for vfc2. Which action resolves the
issue? 

A. Enable LLDP on the interface vfc2 

B. Activate DCBX on the N9K switch 

C. Activate DCBX on the interface e101/1/2 

D. Enable LLDP on the neighbor switch 

Correct Answer: D 
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